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I1. An exclamation is one of the type

a words

b. phrases

verbs

N sentences

12. “He is not here.” This statementis

. negative
b. affirmative
C.mterrogative

d. imperative
13. *How often do you visit here?” This sentence 1S

a. a statement.
sb. a question.
" ¢.a command.
d. an imperative.

14. “Hurry up before the train leaves.” This sentence is

4 a command.
b. an interrogative.
¢. a question.

_d. a statement.

15. Verbs that take NO objects are called

a. monotransitive.

b. ditransitive.
~=g. intransitive.

d. transitive.
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., “He drinks coffee every m .
¢ orning

[
 Whe
Nhat is the form of the finite verb?

. base form
b. past form
. present participle form

ord .
P4 3™ person singular form
7.“The manager talk
: ager talked to them.”
them.” What is the form of the finite verb?

a. base form

. past form
¢. present participle form
rd .
d. 3 person singular form

8. “He is making : / / »
making a toy out of wood.” What is the form of the non-finite verb?
& present participle form
b. past participle form
c. infinitive
d. bare infinitive

9. “The window is broken.” What is the form of the non-finite verb?

a. present participle form
. past Pammple form

c. infinitive

d. bare infinitive

10. A finite clause is a clause which has

/6: a finite verb.
b. a non-finite verb.
¢. an infinitive verb.

d. an irregular verb.
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I. “The visitor came early-

a. quantifier
o article

¢. demonstrative
d. possessive ) R
f the un(lcrlincd determincer:
% : 9 ' T S s type O

2. “This question is easy.” W hat is the tY[

a. quantifier

b. article
4= demonstrative

d. possessive

. . et s on?

3. Which of the following pronouns is 1" person:

7~

b. it
c. they
d. you

4. Which of the following are always singular?

/4. mass nouns
" b. count nouns
c. pronouns
d. demonstratives

5. Which of the following is a neuter pronoun in English?

a. he
b. her
c. she

it
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wpr. Oma
a l)l.(' mar, my Linguisticg
b ~Majid and Saleh, my ¢ ‘
‘ - Y cous
*The shopkeeper Ot e
SILus tomorrow.’

hman i
V4 an is ¢
o/ - - 1 a he
d. Ahmed Al-Ali, you hard working
£ man.”

ir old friend, ig h
5 ere.”

. Which of the underling d r
erline
n phrases is apr S ras
~ d epositional
It al phrase?

/ intelligent

a Ahmed is

b.M old friend is going to visi
£501ng 1o visit me.

v have Been invi

<. We have been invited to a weddi

] e edding

',,ggMohamm:d is in the classroom g.
- m.

48. “The book is on th
S e desk.” >
The prepositional phrase expresses the idea of

P place.

" p. time.
¢. manner.
d. agency-

“
49. “He walked to the mosque.” The prepositional phrase exp

)4 movement.
b. time.
¢. manner.

d. instrument.
50. Which of the following is true when we compare adjuncts and

complements?
e NOT necessary-

ntence. Adjuncts ar
NOT necessary-

e. Complements are
cessary in @ sentence.

A Complements are necessary in ase
ry ina sentenc

b. Adjuncts are necessa
¢. Complements and adjuncts ar¢ both ne
are both NOT necessary in a sen

d. Complements and adjuncts

tence.

= anf10
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41. The term 7n¢

constituent.

a. gender
b. function
. form

d. number of a langy,

0 describe the age

i - is used
42. The term “verb (predicator )"

constituent.

a. gender
4 function
c. form
d. number
1 nce”?
i subj in this sentence?
43. “The old man is here.” What is the subject ir

a. here
b. man
c. is here

_A. the old man
44. “Ahmed is my best friend.” What is the complement in this sentence?

a. Ahmed

b. is
¢ my best friend
d. is my best

45. “Your friend Ahmed is here.”
a. your friend
b. friend Ahmed
c. friend
\\d\ Ahmed

What is the appositive in this sentence?
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only be used as a no
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Al relatiy
.

.
Pronoun

Tt personal relative proy
nNou 1
ns like “wyho» A
and “whom™
mooare used w ith

a objects
p. places:
),hunmns.

d. ideas.

38. The relative pronoun “wk
hose™ gives the idea of

a. purlicipulion.

¢. purpose.
d. place.

. “I met when 1 was travelling,
39. 41 Ahmed when I was travelling.” The underlined clause is

a. a noun clause.

b. a relative clause.
fan adverbial clause.
d. a comparison clause.

40. “I couldn’t open the door because 1 used the wrong Kev.

clause is a

" The underline

A reason clause.
"b. comparison cla
c. relative clause-
d. conditional clause.

use.
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31. <My friends cam .

clause s

independent
am.” The undery;
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d. complement )
asinl
ne but 1 was

32, =My frienc

clause is

a. complex
b. complement
= independent
d. dependent ) .
33. “Everyone could see that he was f,‘ightunCd_" What is the function of
subordinate clause?
a. subject
“b. object
¢. complement
d. appositive
34. “What caused the accident is a complete lﬂ,\’S‘Cr.V-” What is the f\mc\i(m o
the subordinate clause?
“a. subject
b. object
c¢. complement

d. appositive

35. “That-clauses usually begin with “that” and wh-clauses usually begin wity
” Choose the best answer.
a. what
b. who
¢. when
\ ]
d, a wh-question word
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;o with him

Bl

 coOT ating conj
Tae €00 conjunction j
Jjunction in this sent
ence?

a. my
pb. t0

c. not
di but

,g. What is the rol
28. S ¢ of conj 5
f conjunctions in English sent 2
+ se ences.

2 They TemOVE gramine i i
. Y 2 atical units fr
s from a sentence

- They connect grammatical units in a senten
as ence.

4

c. lﬂht) 99111p10111c:11 a grammatical unit in a sentence
d. They simplify sentences. »

“ < 1
29. “Saleh and Ali crossed the street.” In this example, there

a. phrases.
- words.
¢. sentences.

d. clauses.
30. All the clauses in a compound sentence (coord

/independent.
b. dependent.
¢. complex.

d. optional.
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21, Which of the following 1 1‘,‘\\\
a
a. nouns il
¥ adjectives B
C. prepositions ¢
" 4. ¢
ST ortant lecture” Whag g %
< he imp \¢
fully awake during 5
22, “The student was fully & > .

S is sentence
attributive adjective 1n this ser

#” important

b. during

C. was

d. student S
seture.” What is ¢y,

. L ortant lec e

23. “The student was fully awake during the imp

~9. e s P as LY. -

2
. . . . . is S€ g ¥4
predicative adjective in this sentenc

a. lecture
. awake

¢. important
d. the

cai at can be modified by
24, “Thisisa big ____.” Supply the missing noun that ¢z Y the

adjective “big”.
/’building
b. water

c. sugar
d. juice

25. Choose the sentence with an adjective that is the head of a nominal grou

a. He is a careless driver.

b. He found Ahmed very intelligent.
2 We gave money to the poor.
d. The police found the driver guilty.
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16. which of the following i
aprop
Cr noun?
1

4. pen
b Inuml
o4 _\hmcd

4. milk

17. wWhich of the following is
£ 1S a2 mass noun?

a. pen
b. friend
c. Ahmed

d. milk

18. When a word like “family” is us
v is used to refer to a group, it is called

4 8 collective noun

b. a proper noun

c. a reflexive pronoun
d.an indefinite pronoun

good or health.”

19. Complete the following sentence: “Fruit juice

a. its

b is
c.are
d. their

«His family moved to new hot

20. Complete the following sentence:

a. it’s
b. is
c.are

}. their




